Differentiation - Quotient Rule

Find f'(x).

1.
$$f(x) = \tan x = \frac{\sin x}{\cos x}$$

$$(x) = \tan x = \frac{\sin x}{\cos x}$$

$$(05(X),(\cos(X)) + \sin(X)(\sin(X))$$

$$1. f(x) = \tan x = \frac{\sin x}{\cos x}$$

$$\cos(x) = x - (\cos x) + \sin(x) + \sin(x) + \sin(x)$$

$$\cot x = \frac{\sin x}{\cos x}$$

$$\cot x = \frac{\sin x}{\cos x}$$

$$\cot x = \frac{\sin x}{\cos x}$$

$$\cot x = \frac{\cos(x) + \sin^2(x)}{\cos^2(x)} = \frac{1}{\cos^2(x)} = \sec^2(x)$$

$$\sin(x) = y - \cos x = \frac{\cos^2(x) + \sin^2(x)}{\cos^2(x)} = \frac{1}{\cos^2(x)} = \sec^2(x)$$

2.
$$f(x) = \frac{x+1}{x+2}$$

$$\frac{(x+2)\cdot 1 - (x+1)\cdot 1}{(x+2)^2} = \frac{x+2-x-1}{(x+2)^2} = \frac{1}{(x+2)^2}$$

$$3. f(x) = \frac{x^2}{\sin x}$$

$$\frac{(\sin x)^2 \times - x^2(\cos(x))}{\sin^2(x)}$$

$$4. f(x) = \frac{x^3}{\cos x}$$

$$\frac{\left(\cos x \right) 3x^2 - x^3 \left(-\sin(x)\right)}{\cos^2(x)} = \frac{x^2 \left(3\cos(x) + x \sin(x)\right)}{\cos^2(x)}$$

$$(h(x))' = \frac{\ln x}{x^4}$$

$$(h(x))' = \frac{1}{x}$$

$$f'(x) = \frac{\ln x}{x^5}$$

$$= \frac{x^3 - \ln x + 4x^3}{x^5}$$

$$= \frac{x^3 - \ln x + 4x^3}{x^5}$$

$$= \frac{x^3 (1 - 4 \ln x)}{x^5}$$

$$6. f(x) = \sec x = \frac{1}{\cos x}$$

$$\frac{\cos(x) \cdot \theta - 1 \cdot 1 - \sin(x)}{\cos^2 x} = \frac{\sin(x)}{\cos^2 x}$$

$$= \frac{\sin(x)}{\cos(x) \cdot \cos(x)} = \frac{\sin(x)}{\cos(x)} \cdot \frac{1}{\cos(x)} = \tan x \sec x$$

$$7. f(x) = \frac{e^x + 1}{e^x - 1}$$

$$(e^x - 1)(e^x) - (e^x + 1)e^x = e^x \left(e^x - 1\right)^2 = \frac{-xe^x}{(e^x - 1)^2}$$

$$8. f(x) = \frac{\ln x}{x}$$

$$\frac{x \cdot (\frac{1}{x}) - \ln(x) \cdot 1}{x^2} = \frac{1 - \ln(x)}{x^2}$$

$$9. f(x) = \frac{e^x}{x^3}$$

$$\frac{x^3 e^x - e^x \cdot 3x^2}{x^6} = \frac{e^x \times x^2 \times x^3}{x^6}$$

$$= \frac{e^x \times (x - 3)}{x^6}$$

10. $f(x) = \cot x = \frac{\cos x}{\sin x}$

$$\frac{\sin(x)(-\sin(x)) - \cos(x)\cos(x)}{\sin^2 x} = \frac{-(\sin^2 x + \cos^2 x)}{\sin^2 x}$$

$$= \frac{-1}{\sin^2 x}$$

Chain Rule -



EX.
$$f(x) = x^2$$
 $g(x) = 3x + 1$
 $h(x) = f(g(x)) = (3x + 1)^2$
 $h(x) = 2(3x + 1)^3$

Minde

take the derivative of the outside, copy the inside, take derivative of what you just copied

Ex
$$f(x) = (4x^2 + \ln(x) + 5)^3$$

 $f'(x) = 3(4x^2 + \ln(x) + 5)^3 \cdot (8x + \frac{1}{x})^3$

Ex.
$$f(x) = \cos((x^2+1)^4)$$

 $f(x) = -\sin((x^2+1)^4) \cdot 4(x^2+1) \cdot 2x$

$$(e^{5x})' = e^{5x}.5$$

puli!

$$(e^{\mu})' = e^{\mu} \cdot d\mu$$

$$e^{2\star} \rightarrow e^{2\star} \cdot c$$

$$e^{3x} \rightarrow e^{3x}$$
 = $3e^{3x}$

$$\cos(2x) = -\sin(2x) \cdot 2$$

$$(\cos(n))' = -\sin(n) \cdot dn$$

Similar
$$\neq$$
 Similar \neq Simil

lim tan'(x) = angle whom dope approache as